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Area of Maths: Teacher | Me
Addition

WALT add 3 Do it

single digit
numbers

Stretch It

Solve it

Do it
[F[I’ld and circle the number bonds to 10.
Then use these to add the three single digit numbers.

a 4+2+6=
b) 3+5+7=
¢ 4+2+8=
d 3+9+1=
e) 5+9+5=
Stretch it

Colin thinks:

6+4+3=1%

because.. 6 + 3 = 10
and then.. 10 + ¢ = 1¢

What has he done wrong?
Explain why he is incorrect.
Remember: Point, Explain, Answer

Solve it
True or False?

93 %2512 |

1+8+2 %15 [:]
6+8+5=5+5+7 S
& +5+3wd+1+2

6+4+7>3+4+5




